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A Fb
X O
S Tt —

oot EMSOIE R (et & 2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OFMETAZ A (22)
500,000& »3H « 123 18,000
OBBYALAN HAEF(BU)
300,000& »2H ~12& 7,200
OBBYALAN HANEF (B
500,000 x1H+12& 6,000
204 X @48 A H| 25,200 25,200 0
03 SR 25,200 25,200 0
Oouergsl 50,000 »42H x 122 25,200
206 M=l 104,500 104,500 0
01 =4l 104,500 104,500 0
OldE=s Z3ZAAM 6,000& *3,000H 18,000
O=SZTAL ML 2 30,0003 »400€ 12,000
OESZAZ LI EWAIAH 15,000& 300 4,500
O MM ESEHI 5,000 *8H 200 8,000
OXHefi=4=E AHHSXA 45,0008 600 27,000
OFMSzHE THA 25,000,000 14 & 25,000
OE=Y s ¥ tdLgAad 10,000
207 A SO d| 171,240 102,340 68,900
03 A& & 2d| 171,240 102,340 68,900
OIIESEA 10,000& 1,000 10,000
O3RZSZHA 7,1503 *x300= 128 25,740
OASEHINE M2 A 10,0003 25024 2,500
OO0l = H At 5,000& *12,00024 60,000
ONFSEZA 5,000& +6,000 30,000
O&F2EZA Al 4,000& +1,200A 4,800
Oxl&Ek Jta 120,000& +60= 7,200
OSMH a7 H A 50, 000& x500 25,000
OAE S A 3,000, 000& »2Hl = 6,000
405 KtatE =S| 136,000 0 136,000
01 XAt =SEFH=HI 136,000 0 136,000
OE=Z2E B AME Realtime PCR
80,000,000 *1CH 80,000
OPCRE & Held| 50,000,000 *1CH 50,000
O3 8X| 3,000,000 *2CH 6,000
HREA 138,175 122,140 16,035
= 59,000
= 79,175
101 21 24| 80,175 64,140 16,035
= 30,000
= 50,175
04 JIZHNIZ22XNSE+ 80,175 64,140 16,035




SA: BASIMOTA
Ha: OIEE BAS MADS
ol SAS oA (B9 &2
_ _ _ Muo
SA - HH . CA(BH) - HREAY - BY2 Of) & o il i~ o Hm=2
SEREENIEE: 50,0002 *6& %2502 75,000
= 30,000
= 45,000
OBFAH(UHRE2) 75,000,0002 6. 9% 5,175
201 Lot 58,000 58,000 0
=2 29,000
= 29,000
02 2=l 58,000 58,000 0
OEMSAA YIS 46,000
= 23,000
= 23,000
OEMSAASAHY] 12,000
=2 6,000
= 6,000
BSE(Z )2 Al 48,000 48,000 0
= 24,000
= 24,000
207 o1 Rl 48,000 48,000 0
=2 24,000
= 24,000
03 A& & | 48,000 48,000 0
OZRHRUANE 50,0002 96021 48,000
= 24,000
= 24,000
ADIISE X A 71,752 35,085 36,667
101 1218 11,252 11,085 167
YBEBTEESETPS 11,252 11,085 167
OADI| TN LAIEE 40,4802 12 +260L 10,525
OBFAU(UHRER) 10,525, 0002 6. 9% 727
206 T 2 4| 60,500 24,000 36,500
01 X2 bl 60,500 24,000 36,500
O] REX 2A 10,0002 ¥55021 60,500
AN B 378,000 390,000 A 12,000
= 189,000
= 189,000
405 THAHE S| 378,000 390,000 A 12,000
= 189,000
= 189,000
01 XA U SEF S| 378,000 390,000 A12,000
ODIMSR S A+ Z | 83,000,0002 x4TH 352,000
= 176,000
= 176,000
O& DI 26,000,0002 *1CH 26,000
=2 13,000
= 13,000
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SN
X XH .
S Tt

el

20
B
2

2o AL 1,962,266 1,525,208
=2 996,430
= 965,836
PN 87,669 77,669
201 L BH2 | 9,950 9,950
01 Ab2-2t2/HI 5,950 5,950
osg4+g 3,640
~OIETYHZ S 70,0008 122 «43] 3,360
-Ags22e9Rs 70,0002 x2% +23] 280
Ou = 800
- ool 100,000 +8% 800
O3 1,510
—IERYHHAES Y 1,510
02 22| 4,000 4,000
OAN&ZHIR I 4,000
-y Ry RIS 100, 000! *40CH 4,000
202 01t 900 900
01 2LHO! bl 900 900
OJb=&Y ADIL 900
206 T 2| 1,500 1,500
01 HE bl 1,500 1,500
OASHRIAE 300,0002 #53| 1,500
207 &1 RN | 65,319 65,319
03 Al & & 7| 65,319 65,319
OJls-YRS ¢ o 34,235
~OIETYHE L ALY 800 3,000 2,400
- BEIYIRME 22 100,008 %358 3,500
~JIERIYER JlE22 50,0008 %2102 10,500
=R NE 20,0002 20021 4,000
— M B 224 AL 10,0002 x25021 2,500
- RN 10,0002 +30021 3,000
— T A 500%! %700 £ *102] 3,500
~NESE 25,0002 205 500
-ANEsE82n 2,000 *10kg* 122 240
- NESSASME 302! * 1005 +3652 1,095
- SSRYN 150,0002 2024 3,000
OMNZSSTSHYY AT 10,200
— oS S R 6,000 %72 1002 4,200
—S2MRlEEN SBITANE
20,0002 *30021 6,000
OSYEIIETSE A AIGIZ 2 A 16,884




S EAS MDA
ZH: OHMEE F4tE Mg
Er9l: JpE ol Al (el e
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
- UHIIISHEHEIA 400& *12,000A 4,800
- TFHEEE A 1,000& *8,00024 8,000
—HHXNSHHEESAIE 4003 %10,2105 4,084
OANEAFNH =SHAIH 2,000,000 *2Xl = 4,000
401 A& HIZ 2 0HYI 10,000 0 10,000
01 A& HI 10,000 0 10,000
OLEs2AMN HES 10,000, 0002 * 104 2~ 10,000
NEXSEAE L M LHAXRA 391,405 384,735 6,670
= 230,538
& 160,867
207 & O] 391,405 384,735 6,670
= 230,538
= 160,867
03 Al & 2| 391,405 384,735 6,670
O Z 84 (PPD) 13,549
= 11,849
= 1,700
ORZ3H(ELISA) 128,000
= 64,000
= 64,000
OB 24 2HMRT) 1,890
= 1,640
= 250
OERAH(Z2AW2) 62,350
= 47,850
= 14,500
OANMESZH 50,000
= 25,000
& 25,000
OHXILH A3 9,408
= 8,808
& 600
Oxwel(Za) 1,116
= 666
& 450
O 2| (ELISA) 1,753
= 1,703
& 50
OXFRUEZAUL 88,835
= 44,418
& 44,417
OSA0I0IZE A0 o 2eral 33,000
= 23,100
= 9,900
Oxg=2g 1,504
= 1,504




EA: SAMATA
. OtMSH A MABZ
S JIsgAAY (&2 &
_ _ _ Muo
2N -3 - c2(3H) - NEME - HES 0] AFCH loﬂ/l\_Fo” Hns
IISEHAA L U424 62,392 57,804 4,588
= 62,392
207 A ROHEH] 62,392 57,804 4,588
= 62,392
03 Al& A 2H| 62,392 57,804 4,588
OII=EEEA L 942 H 62,392
= 62,392
=&Y DLIHZE ZAH 27,000 51,000 A24,000
= 13,500
= 13,500
207 A IR 27,000 51,000 24,000
=2 13,500
< 13,500
03 A& 22| 27,000 51,000 A24,000
OII=EEHIZLIHEHA 27,000
= 13,500
== 13,500
BSE(ZR28) & QIERATAHAIY SXE4 60,000 0 60,000
= 30,000
= 30,000
201 2et2HH| 60,000 0 60,000
= 30,000
< 30,000
02 5329l 60,000 0 60,000
OAlI & &H| 2 Xl HI 60,000
—BSE(ZSE)LUQIEZEZATIHEAIA SXESE
30,000, 000%29H £ 60,000
= 30,000
= 30,000
ts2tA HAIEH 2L 1,120,000 754,000 366,000
= 560,000
< 560,000
405 KHAEHFE S| 1,120,000 754,000 366,000
= 560,000
= 560,000
01 ML =EFHSHI 1,120,000 754,000 366,000
OYelx2 Scan system 180,000, 000& = 1CH 180,000
= 90,000
= 90,000
Ogelxa Iss)| 65,000,000 = 1CH 65,000
= 32,500
== 32,500
OsEseErE4)| 30,000,000 = 1CH 30,000
= 15,000
= 15,000
O=s2EMsterE4 | 50,000,000 = 1CH 50,000




AN SAAMARL
M OLNSE ZME MAEZ
el Dt SY A ALY (HR:®2)
_ _ pSNE e
SH-EFHHA(FA) - NIRAE - BES 01l A+oH '@Egj Hws2
= 25,000
& 25,000
OXtssh ELISA system 90,000, 000& = 1CH 90,000
= 45,000
= 45,000
O RSFEDI 45,000,000 *2CH 90,000
= 45,000
= 45,000
OdIts &IIEsEI 60,000, 000& = 1CH 60,000
= 30,000
& 30,000
Ox8W=s3dI| 50,000, 000& = 1CH 50,000
= 25,000
& 25,000
OANLS 22 HED 30,000, 000& = 1CH 30,000
= 15,000
& 15,000
(@)=PIF=N:| k=) 20,000, 0002 = 1CH 20,000
= 10,000
& 10,000
OSFMHEZEAD 200,000,000 =1CH 200,000
= 100,000
& 100,000
OHNZE ZE 2] (Semiconfocal system)
180,000,000& *1CH 180,000
= 90,000
& 90,000
O&F= MZJI 40,000,000 = 1CH 40,000
= 20,000
T 20,000
OE & =3 D|(Serum Chemical)
35,000,000 = 1CH 35,000
= 17,500
= 17,500
HASEXA 2HXE 213,800 200,000 13,800
= 100,000
& 113,800
101 21241l 213,800 200,000 13,800
= 100,000
& 113,800
4 D12t 22 RS2+ 213,800 200,000 13,800
OoOYgdaExd 40,000 x20H *250 200,000
= 100,000
& 100,000
Og&ZHl 200,000, 000& *6.9% 13,800
NN & RELN BE 790,559 682,804 107,755
| 11,357
= 779,202




SH EAMOAIDA
M OlFE ZAMS MAZD
SRl SN Y RAEK BE (=EREE))
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
stRMNEsdd3 495,523 489,920 5,603
101 21 24| 22,669 11,674 10,995
04 JIZHNIZ22XRHSE+ 22,669 11,674 10,995
OsJHA=2EE 44 3403 x250€ x1H 11,085
O HEZHI4UHEEZ) 11,085,000 *6.9% 765
OIS AS2CEL 40,4803 x250 1 10,120
OYAAHI(4UHEER) 10,120,000& *6. 9% 699
201 et2dd| 112,841 89,241 23,600
01 A2 22l 65,100 63, 100 2,000
Oget=ZHl 2,200
- HU==EetN== 100, 000& *55 500
-0lASHex2 3,000& 5005 1,500
-E=E= 40,000& 55 200
o=2d+d 2,100
-SSR 493 70,0003 x5F 43| 1,400
- ESIEEEEa 100,000 x7H *12] 700
o=l 1,700
—IJIEAMSE HY= 100, 000& *17H 1,700
Oodxt= 59,100
-JIE2exte dxz 400,000& *53] 2,000
- ZA AEE2Z A AXE
500,000& x5 2,500
-AMEBHEE == Y JI=
3,000,000& *18.2ha*12] 54,600
02 2244 47,741 23,441 24,300
OZ232= ¥ HMAl 950
- dIFLD| =3 Y| 500,000& *12] 500
=& 20| A &3l | 150, 000& 33| 450
OAl & &I Xl 46,791
- SEMELR2UHAE S XY 25,000
- EdH 2,350, 000% «3CH 7,050
-3= 500,000 =3CH 1,500
=0l =Dl 400,000& = 1CH 400
— ==& 1,300,000 »1CH 1,300
-0lo= 200,000 16CH 3,200
- NSEAIN(ZSI]) 500,000& +2CH 1,000
-&371 50,000 *30CH 1,500
-S5H 5,841
a3= 1,793&*2,600 £ 4,662
Y= 1,965& 600 £ 1,179
202 (44| 1,000 1,000 0




SN SAMADL
HE: otFE ZMS MADZ
SR IENY U REX BE (25l &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 2LHOI b 1,000 1,000 0
OBt MDILE &4 1,000
206 T2 bl 15,818 10,818 5,000
01 M2 bl 15,818 10,818 5,000
ONEXE BX7Y 10,818
R 12,5002 *540kg 6,750
-5 1,5002!+1,800kg 2,700
—olgrzloratol kA 3,800 *360kg 1,368
OASEZYHAB(ASELYE)
25,0002 +200S 5,000
207 AR 197,195 122,037 75, 168
CEEET 197,195 122,037 75, 168
OHlZ 2 HEX 7 6,445
—24 13,2502 2002 2,650
- =8 14,2502 %200 2,850
R EY 3,50021 %270 945
OfteFUTY 10,0002 +800St 8,000
OUHEATY 40021 %500 £ *108] 2,000
osgRY 120,002 * 100 2,000
Ot A 168,750
- =AY 380,0002 +3005 114,000
~E A2 130, 0002 *3005 39,000
—oE 2 X2 28,0002 *3005 8,400
“IIEMYLDE 24,5002 *3005 7,350
405 Xt &HE St 146,000 255, 150 £109,150
01 ML SEH S| 146,000 255, 150 £109,150
ESHAUTAR SIIHFY P 146,000
~AJ|S220(1.38) 78,000,000« 1CH 78,000
— HY AL AU (132 A S)
45,000, 0002 * 14 45,000
— EE M YPTO(1BHPRES)
23,000, 00021 #1CH 23,000
EZNSEZLE Y SAXAH 30,688 31,688 A1,000
206 T 2 bl 800 1,800 A1,000
01 T2 800 1,800 A1,000
OZ27Y 2 23 80024 *1,0002+ 800
207 APt 29,888 29,888 0
CEEET 29,888 29,888 0
O X Ab 17,250
-~ =3 A2 150, 0002 * 1005 15,000
RS 15,000, 0002 *10% 1,500
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SN SAMADL
HE: otFE ZMS MADZ
SR IENY U REX BE (S5 &)
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 gggi; Rz
e CPS=E 15,000, 0002 5% 750
St A2 7,211
- =3 A2 20,9002 ¥3004= 6,270
—o%E 2 X2l 6,270, 00024 +10% 627
SIIEMYARE 6,270, 00024 +5% 314
OEZH At 5,427
~ =3 A2 157,300 %305 4,719
—oE 2 X2 4,719,00021*10% 472
“IIEMNYLRE 4,719, 00021 *5% 236
MHBI|EHPABS 194,614 119,220 75,394
101 Q1248 26,614 26,220 394
VPIEREEP =P 26,614 26,220 394
O+ HRAMMBE 40,4809 +38 *2052! 24,896
SEL-E-TICWIELY 24,896, 00021 +6. 9% 1,718
207 AR 80,000 80,000 0
CEEET 80,000 80,000 0
OES-EV-EIEE(S 1,000, 0002 1074 10,000
O+ HRAMULDE 70,000
— Aler 200,000% +40F +53] 40,000
-EXE 55,0002 ¥50% *43] 11,000
~SYMRET A 20, 000219505 19,000
405 Xt &HE St 88,000 13,000 75,000
01 ML SEH SH) 88,000 13,000 75,000
OYAMHHIHE S E R 88,000, 00021 +1CH 88,000
ADII0IZEFAIAE DA A B2 Y 22,714 24,236 A1,522
| 11,357
= 11,367
207 AT 22,714 24,236 A1,522
| 11,357
= 11,357
CEEET] 22,714 24,236 A1,522
OADNAS 2 & 24 Al 22,714
| 11,367
= 11,357
sseENey 28,420 8,420 20,000
201 YEr2gY| 5,700 5,700 0
02 ZZ2YY| 5,700 5,700 0
CNEETES 5,700
- SEXSHIY K22 100,000 +57CH 5,700
207 AR 2,720 2,720 0
CEEET 2,720 2,720 0
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SN SAMADL
HE: otFE ZMS MADZ
SR IENY U REX BE (25l &2
SA-BH.C(BH) - HRAY - B 0ff &+ o4 gggﬁ Rz
OLNIE ATl 70,0002 *167H 2,720
405 Xt &HE St 20,000 0 20,000
01 ML SEH SH| 20,000 0 20,000
OYEITHA QIR HI O Ef 20,000, 00021 #1CH 20,000
HASANSHA X4 18,600 9,320 9,280
307 212H0| & 18,600 9,320 9,280
02 BIAYMBE 8,600 9,320 9,280
O+ HRA0IA N2 100, 0002 *305 *80% 2,400
oolZ+IE 40,0002 * 1005 *80% 3,200
OV INE 150,0002 x205 3,000
OZOIXI ML ZoIS 200, 0002 *505 10,000
AR 690,892 518,249 172,643
3 At 690,892 518,249 172,643
201 YEr2gy| 450,322 453,609 ~3,287
01 AtR2t2IH] 14,000 14,000 0
oYty a2l 9,000
OB AIHE 5,000
02 ZZ2H| 436,322 439,609 ~3,287
OZZRILHA 164,736
~ I3 129,759
ABE N (ALRA) 48,324
ez 6, 47021 ¥500KI+ 122 38,820
3= 8321 +9, 000K+ 122 9,504
CBAE Z(EBIEAM) 3,441
=g 34021 % 102K+ 122 417
XS 2121%12, 000K+ 122 3,024
AEA 23 5,994
ez 6, 4702 x50kl 122 3,882
N3 882! %2, 000Kkl 122 2,112
B2 QBZUT LA
3,000, 0002 +241 *122 72,000
—COXNEASYESFAR 30,0002 +4C0H <122 1,440
~ 44523 1,150, 7402 %122 13,809
— RS XA 5,048
nexss 550,000% *7CH 3,850
=E 100,0002 <2CH 200
L BE(0E) 58,0002 3CH 474
s2(28) 83,0002 x2CH 76
LB (2H) 83,0002 * 14 83
Saatey 200,000% * 14 200
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SH: SMPIMeIA
M OlFE ZAMS MAZD
CHel: ipA R (sl &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
- Q@EHI0| 60,000& = 1CH 60
- AsSXHEIEAE==E 50,000 *160H*23] 1,600
-NEXNEE = 11,070
=858 700,000& =7CH 4,900
=i 450,000& =2CH 900
-SE2(0E) 900, 000& *x3CH 2,700
SI2(5E) 400, 0003 *2CH 800
- (Aad) 300, 000& = 1CH 300
- ExXE 1,420,000& =1CH 1,420
Q@ EHH0| 50,0003 = 1CH 50
—stZ el (=2) 30,000& *13] 30
-SSR 2 1,380
N 35,000 x16CH *x23] 1,120
NEEE 130,0002 +23] 260
—giEzed WREERER
600,000& *13] 600
OHAZH| 36,548
— & A 1,857 & *80L x136L 20,205
= 1,857 & *80L! *70L 10,400
—ANESS Al 1,857 & *80L! «40L 5,943
OAlAE &KX 160, 138
~23 9 Yo, RHAIL
3,445& *5,037m’ 17,353
— S Al 1,622&1 7,757 11,807
-2 KX 2,698
-S¥3IdE A 500, 000& 43| 2,000
-EHAFANE S 3,000
—ASHA A 3,000,000& *13] 3,000
—HA2AL HM=HY 1,000,000& *43| 4,000
—AHAIAL dAHS 1,150,000& 23] 2,300
-244 Z2HuE 500, 000& x6IH 3,000
-AgAa 2 2,000,000 44! 8,000
-AEs=4A FA 3,000,000 = 14! 3,000
—-agd HIIEMH2EL 1,250,000& = 12& 15,000
—Al HII2 X2l 700,000& x12& 8,400
-JIgE2s? HoldeES 250,000& x12& 3,000
- 20o1ZHE4 450,000& = 12& 5,400
—AYAE ZEEUFY 89
250,000& x12& 3,000
-H=He=sdY 385,000& x12& 4,620
—&IJ|tMAL | BEE 380,000& x12& 4,560
-H3AA HAEY 56,000
OXteHety| 74,900

_12_




A FedARA
M OlFE ZAMS MAZD
ol A4 2Y (&9 &)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
-UEXsS(2E) 3,800,000& »7CH 26,600
-SE(5E) 5,600,000& »2CH 11,200
-st=2(tg) 7,300,000 *3CH 21,900
-st2(58) 3,900,000 *2CH 7,800
-3=2(a¥) 3,700,000 = 1CH 3,700
- S=IE 3,700,000& = 1CH 3,700
301 Lt as 3,570 3,520 50
09 SUIRRIALZHS 3,570 3,520 50
O)=)= 97,500 x1E*12& 1,170
OEAH| 120,000 12 =128 1,440
Ou =l 55,0003 «1& 128 660
Oolnl=tl 250,000& =1 250
OHMEZE= 50,0002 *1& 50
401 Al 261 20| 213,000 61, 120 51,880
01 A& H 211,560 61,120 150,440
OFZ2uAM L AIR4A c|22E SAt 189,620
OF=Z2uM ¥ AIR4A cl2Ee AAILZH
00,000,000 *4.47% 8,940
OFAZ =3 A 13,000
03 Al 2CHH] 1,440 0 1,440
OF2UAM & 222 2l
200,000,000& *0.72% 1,440
405 KtatE =H| 24,000 0 24,000
01 A&t =S F SHI 24,000 0 24,000
OAIZ=SZHI8 CCTVE X 1,500,000 =4 CH 6,000
OSEANSE AL CCTVE X 18,000
HHSAAY (FLMLATL) 2,634,175 2,481,230 152,945
el 2| 2,509,945 2,360,790 149,155
eI 2| 2,509,945 2,360,790 149,155
101 el Hl 2,423,245 2,274,930 148,315
01 E= 2,337,389 2,192,092 145,297
OZ&H 1,518,358
— ety 737,446
= 6,086,330 x 12«12 73,036
= 3,737,900 x 18~ 128 44,855
6= 2,879,710 x12F 123 414,679
= 1,800,870 x8H 12 172,884
- 83 2,666,000& x1H *128 31,992
- 455,558
- 4,222 470 x3E» 128 152,009
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RPN
RS AAY| (FLFIMATL)
eIzl
S HE - S(EH) - NRAY - BES sk oy S
0f 4 o
- AL 2,810,630 x9H »12& 303,549
-JlsA 325,354
o= 3,332,000& x 1 x12& 39,984
= 2,980,850 x4 H 128 143,081
8= 2,304,700 x2H 128 55,313
9= 1,812,000& x»4H «12& 86,976
O&2=+¢ 118,792
Oxzu2f=¢ 213,262
A2t 22 199,348
-FL2RH 13,914
@RSl Ea=, 231,701
-IIEg 34,560
- B Xt 40,0003 *34H 123 16,320
A EHIS 20,0003 73« 12& 17,520
Jret= 30,000 x2H 128 720
- ANESHI R 19,507
- EEW(1=X) 51,9903 »2Z *43| 416
DSsw(1=X,It) 433,880 x11H #435] 19,091
-S0sd=sY 792,200 x2H + 122 19,013
- d2=Eometa 47,760
- 2501 & 130,000 «10E «12& 15,600
205 01 & 110,000& 9 123 11,880
- 15801 &f 80,0003 x9FH «12& 8,640
10501 & 60,0003 x 12«12 8,640
54 0] &t 50,0003 x5 «12& 3,000
-E2R=E 20,760
43 50,0003 x25Z « 12& 15,000
=3 40,0002 x 12+ 123 5,760
-z 33,821
- Y ErA 18,369
52 3,738,000 *4. 1%+ 12& 1,840
6= 20,076,000 *4 . 1%+ 122 9,878
= 10,850,000 *4. 1%+ 12& 5,339
8= 2,666,000% *4. 1%12& 1,312
1A 20,377,000& *4. 1%+ 128 10,026
- Jls A 5,426
6= 3,332,000 *4. 1%+ 12& 1,640
= 3,082,000& *4. 1%12& 1,517
8= 4,610,000& *4 . 1%+ 123 2,269
-Jled¥d2=+Y 2,400
CBTE 30,0003 x4 H «12& 1,440
- 8~0= 20,0003 x4 H+12& 960
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SN BAPMARA
Hu: WESARY (FLAYATL)
&l QI 2AY| (ctel: &
S HE - S(EH) - NRAY - BES sk oy S
0f 4 o
—JI=HESY(IIA 30,0003 x1H«12& 360
-JIs328+4(28Y) 20,000&x2H+12& 480
i E=gee Pt =y 41,400
+=o| x4 150,000 #23H » 123 41,400
—HRHRE 11,520
1A 80,000& 12 122 11,520
—orMe gL 120
g 2el 10,0003 x1H «12& 120
(@FSRLE=Ea]] 130,000 *48G » 123 74,880
O EFIth| 1,445,300,000& /128 «60%*22] 144,530
OItE &I 35,866
- =H 73,035,000 *66%/12/30%102 1,339
—-2=2H 1,445,300,000& *86%/12/30x10 34,527
02 JIEt & E = 39,164 38,908
O3sL =M 39, 164
-SZ YRl 400,000 x7E+ 123 33,600
—At2 2R 5,564,000 5,564
03 RIAHAZZAE S 46,692 43,930
=LA 43,677
-2 39,500 x2H 249 19,671
-&0= 19,671,000 /128 400% 6,557
— A2l 7,410 «2H »15AI 2t+ 1228 2,668
SN =y 39,5003 x2H x25& 1,975
-F5d 39,5003 x2H 104 8,216
-FL2RH 59,250 x2H 122 1,422
-&AJ2E==E 19,671,000 *10% 1,968
—g&Z 50l 300, 000& »2H #23] 1,200
OHIERES=S 3,015
-=H=SRE=S 43,676,000& *4.5% 1,966
SIR=dh=: R g = =) 43,676,000 *1.4% 612
—MATMHEEZ 43,676,000 *1% 437
204 R4 AY| 86,700 85,860
02 A2 x| 86,700 85,860
OoggH a2 70,560
-4g8 400,0003 x1H«12& 4,800
-5, 250,000 x4 H «12& 12,000
—6=,H A 155,000& *21E 123 39,060
= 140,000& 8 123 13,440
-8= 105,000& x1H~12& 1,260
OJls& 16, 140
-62 155,000 x1H +12& 1,860
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SH: BakelMeinA
Hu: HESHAL (SMAMADL)
chel: ol 2oy (=CR-E
SN S(B) - NRAY - B2 Aro B =2
0l &
-2 140,000 x4 H « 122 6,720
-8~92 105,000 6 H 12 7,560
=2kl 124,230 120,440 3,790
224l 124,230 120,440 3,790
201 et2Ad| 53,210 49,730 3,480
01 AR 2t eld| 49,580 46,100 3,480
OJl==8Hl 9,880
OJl=2gHl 15,600
o2d=¢ 24,100
- (=22) 50,000& 117 5,850
—YSA(BF FAH 50,000& »365& 18,250
02 2324l 3,630 3,630 0
OS223 XA 3,630
—-REYs=Z 3,630
202 44| 46,000 44,000 2,000
01 = LHA bl 46,000 44,000 2,000
OJ12¢Hl 46,000
203 ¥ =&l 16,620 16,210 410
01 J| 228 P RF=8H 3,300 2,970 330
(OF~Fy 3,300
02 BRI R F | 1,920 1,840 80
O A& & | 40,0003 »48% 1,920
04 EM2E IR 11,400 11,400 0
O & At 350,000& «12& 4,200
Oogrs 250,000 128 3,000
OEEANEZHE 350,000& x12& 4,200
204 XS AH| 8,400 8,400 0
01 ¥ SR A 8,400 8,400 0
(OF~F- 400,0003 x1E«12& 4,800
O 100, 000& 3H 12 3,600
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Of &

A

SH: BT A
M BpA2 OF - BB
el BAS M HAHAA (e a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SMAE=ERR A 901, 150 852,350 48,800
A2 Ot - g2 276,642 268,964 7,678
SNSAN HIH S A 276,642 268,964 7,678
A= H S AL 119,446 116,269 3,177
101 2121 4| 38,946 38,369 577
04 D12t 22 NSES 38,946 38,369 577
OJ2ZtHZ2 2 X2 38,946
-E=& LAY BX 40,4803 *3Hx300 36,432
-HAEAFH(4UHEEZ) 36,432,000 *6. 9% 2,514
201 YBr2 Y| 15,000 15,000 0
01 At 22/l 600 600 0
Otz (HEX ) 300, 000& 23| 600
02 S32gH| 14,400 14,400 0
OAl& &H|I KXl b8l 14,400
Foa HHWE 7,500
-2724 HHIKRA(SRAAM S) 3,000
- A EHI R 300, 000& = 13CH 3,900
202 (4 Hi 30,500 30,500 0
01 2| 500 500 0
OJt=sMstgl S MOILE odd] 500
02 2 X0t 30,000 30,000 0
TESAIE HAIEE 16,800
— 2tLH 300,000& x3H = 12& 10,800
-2 500,000& x1H 128 6,000
OSSLAEFOIA AAIEE 13,200
— 2HLH 300,000& »2H «12& 7,200
- 29| 500,000& x1H =12 6,000
207 A FOH k| 26,900 26,400 500
03 A& Tl 26,900 26,400 500
OE=EFZ A 13,000
-SEHA AR 30,000& * 1204 3,600
-S=HANE 200,000& *5M E 1,000
- CEHAIRIME S EH| 5,000& 7Y =150 5,250
—-2das FUSA 6,000 *17524 1,050
—CESHAIZ2 Y OESYHAIAE
15,000 * 1404 2,100
O&=S=E S AL 6,000
-~ NSIEHAAMN ME 5,000& =800 4,000
-&MFS2EZAE AE 4,000& *5005% 2,000
ODIMSAH At 5,000& *1,50021 7,500
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SN BUAM=LT] A
F: NS oMM - g pg)
TRl BASAM MAHAN (e &
_ _ SN E N
N B2 (33) - NRAY - BES &k o4 0l o o Hmz2
-?HS X
5,000 x4 25021 5,000
- THS 2EAA 1,0002 *6,0002 6,000
OAlgel R 4,000
— AIE AP A 2,000,0002 *2X| = 4,000
405 Xt &+ S H| 14,500 0 14,500
01 AL S S F S| 14,500 0 14,500
OCo2 2! 70l 12,000,0002 *1CH 12,000
OXIal HE = 700,000 1CH 700
OHIE% PC 900, 000! *2CH 1,800
SN ES 92,606 107,105 14,499
201 e 76,632 75,676 956
01 AR 2telt| 3.600 3,600 0
Ogery a2 3,600
02 B32H 73,082 72,076 956
03823 ¢ HAl 24,903
-®II23 14,994
e 5,790 *50kw+ 128 3,474
NEE 80 *12,000kw* 122 11,520
42223 1,500
e 5,000 *128 60
NBZ 6002 *200m * 122 1,440
-5t+=Q3 44021 %100 * 122 528
-—AEAIARS 50,0002 * 1074 500
— kM || 85,3602 * 123 1,025
~ RS XAl 676
=Rk 250,000 *2CH 500
A=Y R 88,0002 *2CH 176
- SANERYS 500
22X 50,0002 *4CH =23] 400
=PAVNE= 50,0002 *23] 100
-XNsi2ER 2,440
=Rk 700,000 *2CH 1,400
ASEH R 520,000 *2CH 1,040
- TSN 40,0002 4L} 23] 320
— b= MstEY 70,0002 *13] 700
-ZUA22 2 CHHEEE 50,0002 Y 100
-SRLRESEUSE R
27021 %5002 * 122 1,620
Od&H| 14,063
-AUSSR 1,395 *1052 *20L 2,930
-MRUZ 1,395 +1052 * 12L*3CH 5,274
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SH: BUSIMERT A
HE: SN2 OHF - B2
SOl BASDAM HMHHAM (B9 &)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
- 2= 1,39521 1052 x20Lx2CH 5,859
OANEZHIS Y| 18,966
—oRAY TR 1,600
~HASX 3,92091 495 M 1,942
—0IS2SHUIRX 100,0002! 105 1,000
- LEX-PE-1- 300,000 *23] 600
~AAHH IS B 12,000
=N BIESIE] 2,0002! *500kg * 128 12,000
~TEALI BRI E 52,0002 x 122 1,824
ORtg s el 15,100
-usNsER 3,800, 0002 1CH 3,800
—ABS452 3,700, 0002 1CH 3,700
— ASYH Y 3,800, 0002 *2CH 7,600
204 B 2 43 2| 6,000 6,000 0
03 SR 6,000 6,000 0
Ol TR 50,0008 * 102 ¥ 122 6,000
301 LB A3 3,474 3,429 45
09 BU2RRARHS 3,474 3,429 45
OBAZLRALAS 3,474
-23 97,5002 %124 +122 1,170
- 3| 120,0002 12 * 122 1,440
- RE 50,000 %124 *122 600
T 264,002 %1% 264
401 Al 2612 S 0| 6,500 22,000 A15,500
01 Al &bl 6,500 22,000 A 15,500
OFAA &I & 6,500
- XYA YFAE &X 6,500
HHLSYFH(SLAMZ2T| ) 624,508 583,386 41,122
ol 2 | 596,998 560,958 36,040
o1zt 2yl 596,998 560,958 36,040
101 Q1214 576,718 540,678 36,040
01 B 547,154 506,570 40,584
OZZH 355,224
—urx 250,838
53 3,849, 50021+ 1% +122 46,194
.63 2,847, 3002 *3% +122 102,503
73 2,215,8002 *3% +122 79,769
83 1,864,300 %12 +122 22,372
— o1z 68,300
A 2,845,800 %22 *122 68,300
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SN SUIIMELT L
Y HHSAAU(SNAMSRT L)
chol: ozl 2oyl (ol &2
SH-EH . S2(30) - MRAY - BES Ofl & 04 e HRE2
-JIsA 36,086
= 3,007,100 x1H + 128 36,086
O&dz2=¢ 28,029
Ox=l2f=H 53,755
— N BRLY 53,755
OFSRLEg=, 48,977
~otEay 7,200
- B2 Xt 40,0003 x9H « 128 4,320
TP ENE 20,000 ¥ 122 122 2,880
S UEEVEES= 1,736
nsstu(1=X) 433,880 18 »43] 1,736
—F24YINE 10,560
- 259014t 130,000& 3 » 122 4,680
15801 &f 80,0003 x2E 12& 1,920
101101 44 60,0002 *32 122 2,160
58 0] & 50,000 «3F x12& 1,800
-flgReay 5,880
B 50,0003 x99 «12& 5,400
=3 40,000 x1H +128 480
—JleFELY 360
6,72 30,0002 %1% * 122 360
-Jsd3EEI13 10,000 x 18«12 120
—Hezeasy 8,601
gT=) 3,849,500& *4 . 1%+ 128 1L 1,894
= 2,952,200& *4 . 1%+ 128 +2H 2,905
2 2,283,200 4. 19+ 128 %22 2,247
< A 3,159,400& 4. 1% 128 «1H 1,555
—ozgR=g 12,600
=9 &g 150,000& x7H + 122 12,600
—gipgeag 1,920
SRS 80,0003 x2H x12& 1,920
OL-EE= 2] 130,000 112§+ 12% 17,160
O EF It 355,224,0009 /128 *60%*23] 35,523
OHIIZ Al 355,224,000 /122 86%/30* 10 8,486
02 JIEtA E = 29,564 34,108 N4,544
OZEYI2A 29,564
—NABRLY 5,564
-SZ YL 400,000 x5 128 24,000
204 A= A H| 20,280 20,280 0
02 A==l 20,280 20,280 0
023X 20,280
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SN SUIIMELT L
B USSR (FNAMELTA)
chol: ozl 2oyl (ol &2
SH-EH . S2(30) - MRAY - BES O] &b o4 e HRE2
-5 250,000 x1H «12& 3,000
—65, A 155,000& x5 122 9,300
-7s 140,000 «3H «12& 5,040
-82 105, 00021 * 12 * 122 1,260
-Jlsra 140,000& x1H~ 123 1,680
Jl=&Hl 27,510 22,428 5,082
Jl=&d| 27,510 22,428 5,082
201 fEt2dd| 6,370 6,188 182
01 AtR2tel 6,370 6,188 182
OJl2+2H| 2,470
oJ=3z| 3,900
202 ¢4l 9,000 10,000 A 1,000
01 =2 A b 9,000 10,000 A 1,000
OJl= 0 9,000
203 H =&l 3,440 3,440 0
VEEPREEESTY 440 440 0
OZ A A& 2| 40,0002 11 440
04 EXM2E IR 3,000 3,000 0
O=ERXNa 250,000 «12& 3,000
204 M 2= HH| 1,800 1,800 0
01 SR A 1,800 1,800 0
OXIAH 50,0002 1%+ 12 1,800
405 KtatE =S| 6,900 1,000 5,900
01 ML= EFH=HI 6,900 1,000 5,900
OBB2EBY| 6,900
— S| XH(22l X 8) 500, 000 *1CH 500
- HA (22X E) 600,000 *1CH 600
~A28 HEE(YABE) 1,300,0008 x4CH 5,200
—LCD TV 600
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N = 0l & AF & F Al A

SN EMIMLET L
=

HE: SN2 OHF - B2
SRl BAS N, HAHAA (B9 &)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
ENPI MR A 643,790 603, 141 40,649
EAZ OF - gome 176,433 166,376 10,057
EAZ SN, MYHAM 98,893 83,511 15,382
Z42 SIMAA 58,552 38,870 19,682
101 01214 12,982 0 12,982
YBIESTEES =T 2,982 0 12,982
OSTSHET MEST 40,4802 +124+3002 12, 144
SEE-ETTeNIELEY 12,144, 00021 +6. 9% 838
201 L2 Y| 3,920 2,970 950
01 ALR eIt 2,000 1,050 950
o=y 300
—SUSUN FYS 100,002 *3% 300
OSEANBYN R 50, 000% 34! 1,700
02 232l 1,920 1,920 0
02222 2 AA 420
~ANEZAAIR SHIEl 50002 %721%122 420
SNEETES 1,500
—AAEY XSS 300, 0002 #5CH 1,500
202 04t 12,300 12,300 0
01 2UH0i bl 300 300 0
Ot =9I Mstaisl &40t 300
02 2 % 01| 12,000 12,000 0
OSUSLANT HASZ(22)
500,000% 12 122 6,000
OBZYAL0IN AASH(2)
500, 0002 * 12 122 6,000
204 X 2 48 2| 4,200 4,200 0
03 SH LA | 4,200 4,200 0
Sl LIEEN] 50,0002 +7 122 4,200
207 1PN LB 20,450 19,400 1,050
CEEEE 20,450 19,400 1,050
OEZ2A MATY 30,0002 * 1004 3,000
OZSLAME 20000021 +1 K| E 200
ORBSIAAM 5,0002 *5505 2,750
ODIME 2 A 5,0002 +70021 3,500
OAKZA 3,2002 *45021 1,440
OESAANT Y 15,0002 *14024 2,100
OMSTNEY 2142 A 10,0002 *10024 1,000
OB HUAM 6,00021 +66021 3,960
OTEAANIMSSHYE 50008 +200% 2% 2,000
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SH: SASIMYRT A
=

HE: ZA2 OHN - Yol
ool fpAey (EHel: &)
SN -FH . SA(BA) - HPAY - BES Ofl &F o8 ﬁggf; HDZ2

OXt2r Bt 11,300

-0=s8 3,800,0008 =2CH 7,600

- ASXHE 3,700,00024 = 1CH 3,700
401 A& HIL 2T 18,000 17,785 215
01 Al&HI 18,000 17,785 215

OB AN A 18,000

-2 S2IM 15,000, 000! *14] 15,000

- AESSA 2 3,000,0002 *14] 3,000
HHSAHH (SAMLRT L) 467,357 436,765 30,592
ol 2| 447,170 417,145 30,025
ol 2| 447,170 417,145 30,025
101 QI 24| 432,290 402,265 30,025
01 B2 416,035 386,095 29,940

OgZH 282,595

— 2 Bh=] 95,922

63 3,035,581+ 1Y+ 128 36,427

73 2,478,938 x2Y + 128 59,495

- o= 130,540

o 4,595,262 x 1% * 122 55, 144

o1 AL 3,141,46581 2«12 75,396

-Jls= 56, 133

72 3,143,521+ 1%+ 128 37,723

92 1,534,08421 1Y~ 122 18,410

o¥2+y 18,749

OxU224Y 33,758

- A2t 2Reg 33,758

OF Mg 33,442

-otEay 5,280

1 ESY 40,0008 <72 » 128 3,360

CEHEHS 20,0008 <82 » 128 1,920

S UEE RS 3,353

DSsn(13X) 419,090 x2% x4 3] 3,353

- 249003 6,960

25 0] 4t 130,0002! «3% 122 4,680

151 01 &t 80,0008+ 12 =128 960

10E 0l & 60,0008 * 12 » 128 720

54401 & 50,0008 « 12 =128 600

-fE2esy 4,560

=IES 50,0009 62 » 128 3,600

2z 40,0002 x5+ 122 960

—HeEeRLY 4,529
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Z A ML) A
HHP AL (ZMTIML R 4)
eI 2|
SH - BH - S(S) - NEMY - BES sy e
6= 2,901,600 *4. 1%+ 1H«122 1,428
oA 3,266,800 *4. 1%+ 1H <122 1,608
JIs=(72) 3,033,200 *4. 1%+ 1Z 128 1,493
B == L= 5,400
=9/ X & 150,000& »3H 123 5,400
- EE 2,880
SRS 80,000& x3H x 128 2,880
-Jl=88 =g 480
=g e+ 30,000 x1H*12& 360
Jl=&dE+EId= 10,0003 18 «123 120
OFASAHI 130,000& »8H « 123 12,480
OEEFOtl 282,595,000 *60%/ 128 »23| 28,260
O\ ItE 24l
282,595,000 /122 »86%/30L 10 6,751
02 JIEtA E = 16,255 16,170
Os8LS =AM 16,255
- ZUI2Rd 1,855
-SZ Y| 400,000 x3& x 128 14,400
204 XS24 AY| 14,880 14,880
02 g2 &4 14,880 14,880
(O 250,000& 18 ~12& 3,000
Oba, H A 155,000& 3 122 5,580
O7= 140,000& 3 =122 5,040
O9%= 105,000& x1E 123 1,260
=2y 20, 187 19,620
Jl=&d| 20,187 19,620
201 get=24Ed| 6,067 5,500
01 A2 22/Hl 4,900 4,420
OJl=+=&Hl 1,900
OJl2=l 3,000
02 32244 1,167 1,080
OZ232= ¥ HAl 1,167
-RELSE 2703 *36000 =122 1,167
202 044l 9,000 9,000
01 20t 9,000 9,000
OJ1=2 0 9,000
203 R =2 3,320 3,320
02 HJtA 2 XA 320 320
O @ A Z =] 40,0002 *8¢ 320
04 REA2EHRFEH 3,000 3,000
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N = 0l & AF & F Al A

SA: SASIMTET A
Hu: BA2 OF - g
Ol BASOIM HMHHAA EEREED

20
B
2

T & X A 711,532 654,314 57,218
OrM - grot gl 247,104 199,487 47,617
S, M HA A 132,792 107,030 25,762
A2 I MA AL 67,202 47,040 20,162
101 01218 12,982 0 12,982
UBENEE =P 12,982 0 12,982
OSERER AHPE 40,4802 *12+300L 12,144
OEZAHUHEEZ) 12,144,0002 +6. % 838
201 Lpre gyl 3,120 2,640 480
01 AR 22l 680 700 A20
OgetgH| 680
~SEANSEA QM K
20,000% *34 2 680
02 2E29H| 2,440 1,940 500
O2ZZQ2YHA 940
— ANE2AAAIZ et 5,000, x421 %122 240
- = Ob= 9 A5 3l Ul 700,0002! *15] 700
OAl& =S XY 1,500
~ 2ALEHIS XY 300, 0002 *5CH 1,500
202 01| 18,600 18,600 0
01 201t 600 600 0
OJb=QIMst=sl 24 0/l 600,0002 +13] 600
02 2 %401 H| 18,000 18,000 0
OSASHAR AAISHE 300,000 *3% +122 10,800
OZZYALYA MAIS
300,0002! x2% * 128 7,200
204 X 23 A | 4,200 4,200 0
03 SZ AR 4,200 4,200 0
one s 50,0008 +7 128 4,200
207 A PIf | 21,600 21,600 0
03 Al & & 2t 21,600 21,600 0
OfES FUAA 6,0002 *40021 2,400
OSZAAZD TS AIAY 15,0002 «802 1,200
OTEAANAMSSHY 5 0002 +52 160 4,000
ODIM2H A 5,0002 +1,80024 9,000
ORZSHAA 5,0002 20021 1,000
ORZSIAAN ANBTY 4,0002 *1,00024 4,000
405 Xt &HE S| 6,700 0 6,700
01 AL SZF S| 6,700 0 6,700
OAAZA WM 2,300,0002 %27} A 4,600
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A SAANE X A

M BAS O - goipgl
el AP FAHAA ECR-ED
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
ORAE=E 2150 2,100,000& = 1CH 2,100
=AY 65,590 59,990 5,600
201 et2A| 10,200 9,600 600
01 AR 2t eld| 3,300 2,800 500
Oon =l 1,300
-&Y=s 100,000& «13H 1,300
O=gl 2,000
—-JIsgYiMdeRE S8R 2,000
02 23244l 6,900 6,800 100
OAEE IS Xd| 6,900
- YA2HEH R X 300,000 8CH 2,400
-fzZ4 Z2Hus 500,000& *7H 3,500
-2=J|R]XHl 100,000 * 10K 1,000
206 M= 4l 4,500 1,500 3,000
01 M Z 4l 4,500 1,500 3,000
ASEH 43 300, 000& »52] 1,500
OOrds= Atrateldl 3,000
207 & 2IHEH| 25,890 25,890 0
03 AlE & 2| 25,890 25,890 0
OJtsz2dgas & oz 13,890
- JIREEAZEUE 800& *2,0005 1,600
- HAAZAE 10, 000& 200 2,000
- SENAEE Al 50,000& 2024 1,000
- ANgs=2al 30& *2005*365 2,190
—HHEATY 5003 *240L*53] 600
-O==E XI223 100, 000& *5024 5,000
-AN=3RA2 150, 000& 103 1,500
OANSS=2S8Z3E 38 6,900
—EZdctAAM 2002 *18,000A 3,600
- SESAHEY AMAAM 100, 000& 2 «43] 800
-HXSdict EESAE 400&+2,500A 1,000
—HACCP M EHEZ AL 30,000& »5024 1,500
OAddI=dgE &AI0E 3,600
- 2HSE WE R A 5,000& 22021 1,100
-4 ZLIHEZA 10,000& *100A 1,000
- AFQSFAUIX HA 5,000& 30024 1,500
OANEAFDH =24 1,500
405 KtatE =S| 25,000 23,000 2,000
01 A& =SEFH=HI 25,000 23,000 2,000
(OFIFA="g~. ) 7,000,000 = 1CH 7,000
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SN
X XH .
S Tt

oLk

oHE - g2
o, HBEHA

. SR(3A) - HEMY - BES Lo e =El

£330l 5,000,000& =1CH 5,000
e =2cldl 13,000,000& *1CH 13,000

114,312 92,457 21,855

114,312 92,457 21,855

g2l 58,090 59,417 N1,327

fa2eldl 3,600 6,600 3,000
Lot & =2 3,600

S=dgl 54,490 52,817 1,673
SE2SLHA 27,093
-&JIe=s 18,410
UL (M) JI2F 5,610 «70Kwx 128 4,713
NE=3= 96.43&*11,840Kwx 12 13,697
—arER3 2,691
ez 5,200& 128 63
AEE 7303 *300m «12& 2,628
—ot=ER3 3903 »300m" 12 1,404
— NS A 552
- SEA 100,000 *1CH 23] 200
St= Xt 88,0003 »2CH x23] 352
- AsSIHEAZE 30,000 *3CH*13] 90
-NsIEE = 2,000
U=s8s8 700,000& 1CH 700
Eng=eli 650,000& +2CH 1,300
-EINHRES 470
g 35,000 *3CH 23] 210
AEE 130,000& 23l 260
—&D|otd el 93,000& 123 1,116
—-TVAIE =2 30,000& 123 360
jeal=da] 8,587
-OtdsSEN= 1,330& * 110 #40c| £ 5,852
-aAg4 1,330& 110 152/ & 2,195
—LPGItA T Y 45,0008 x15+128 540
(OZNF=F:3:IE N ]| 7,610
- HARAES 1,600
- HeAFHAES 250
- ZE4HHJIEMe =Y 4,200
-RBHEH 130,000& =122 1,560
OXtgfd et 11,200
-b=sdss 3,800,000 =1CH 3,800
- AE3= 3,700,000& =204 7,400

301 YerE A 6,922 7,040 A118
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SN BASIMRHET A
M BA2 OM - BB
&t HHAARH (ctel &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
09 SU2RRALL S 6,922 7,040 A118
Oo=s 97,5003 x2H x12& 2,340
O&All 120,000 «2H «12& 2,880
OunEH| 48,000 x2H 128 1,152
o1u=y| 250,000 2 500
OZ2UZER¥ HHEE 25,000& x2H 50
401 A& HIZ 2 C0HYI 40,000 22,000 18,000
01 A& HI 40,000 22,000 18,000
OFAAIEIHE A 20,000,000& * 14! 20,000
O=YE A2=JIAE uH 20,000,000& =14 20,000
405 KtatE =S| 9,300 4,000 5,300
01 XML E2EHSHI 9,300 4,000 5,300
OAMRES Xt 7,200
—AR4A oKt 300, 000& «20CH 6,000
—AEs Tt 120, 000& *10CH 1,200
LE=SFFH 1,500, 0003 = 1CH 1,500
OFAX 600,000 *1CH 600
HHSHAY(SMSIMRIER L) 464,428 454,827 9,601
QI 2 445,118 436,687 8,431
eIz El 445,118 436,687 8,431
101 @124 H| 430,658 422,227 8,431
01 8= 402,948 392,919 10,029
Og2H 259,129
— QoA 176,427
- 58 3,805,000& 1 x12& 45,660
6= 3,035,600 x2H »12& 72,855
e 2,413,000& x2F »12& 57,912
- 30,780
- ALAL 2,565,000 x1H «12& 30,780
-JlsH 51,922
9= 2,163,400& «2H 128 51,922
OF~=t =y 19,100
Oxzu2f=¢ 39,116
—AN22RY 39,116
OFSEL RS, 41,019
A= 7,560
[N, 40,0003 +x7E+12& 3,360
HAHEHIS 20,0003 *16E ~12& 3,840
Jret= 30,000 x1H*12& 360
- ANESHIEESE 4,393
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A SAANE X A

B HHLAAU (SMAMHAT L)
el ol | (el a2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ESW(1=X) 51,9903 x5H x4 3| 1,040
DSst (1= X9t 419,0903 »2H x4 3| 3,353
- 203 7,440
- 253801 & 130,000 18 » 123 1,560
20301 &f 110,000& x1E « 12 1,320
1545 0] & 80,0003 x2H+12& 1,920
- 10901 & 60,0003 x2H x12& 1,440
- 501 & 50,0003 x2H +12& 1,200
-RE2RE 4,560
43 50,0003 x6ZE x12& 3,600
=35 40,0003 x2H x12& 960
-SRI 6,626
2UHE 62 3,081,000 *4. 19%*2H « 122 3,032
AUE 732 2,797,000 4. 1%+ 1F =122 1,377
JISs& 98  2,253,0003*4. 1%+2F «12& 2,217
oz 9,000
=olag 150,000 x5F 12 9,000
G R = 960
A E 80,0003 x1H«12& 960
-Jl=88=Y 480
CAE2AA 20,0003 x1E+12& 240
J=82+Y Jtat32 20,0008 +x1E«12& 240
O&E MU ZAH| 130,000& x8H «12& 12,480
OZE S It 259,126,000 /12 «120% 25,913
OGIIE AHl 259,126,000 *86%/ 12& /30«10 6,191
02 JIEtAE = 27,710 29,308 A 1,598
OIS A 27,710
—ZUI2RsE 3,710
-EZ Y2l 400,000& x5F +12& 24,000
204 P4 | 14,460 14,460 0
02 22Xl 14,460 14,460 0
o525 250,000 x1E«12& 3,000
O=1 155,000 x2E 12 3,720
or=s 140,000 x2F 12 3,360
OH A 155,000& x1H «12& 1,860
O8=0lat 105,000 »2H «12& 2,520
Jl2&d| 19,310 18,140 1,170
=l 19,310 18, 140 1,170
201 Ler2g | 6,190 5,020 1,170
01 At 2teltl 5,390 4,420 970
OJ12+8Hl 2,090

_33_




SN SASAMHET L
HE: HYSAAH (SMAMMEK L)
SRS
— . — o

u (et =3
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh

OJl=sEl 3,300

02 2244 800 600 200
OZZLIUMA 800
-REZE €52 800

202 (44l 8,000 8,000 0

01 LA 8,000 8,000 0
OJl=0 4l 8,000

203 R =& 3,320 3,320 0

02 I FRF=EH 320 320 0
OXA A& 2| 40,000& x8H 320

04 RFA2EHRFEH 3,000 3,000 0
(O FSPNE 250,000& «12& 3,000

204 MR =M AH| 1,800 1,800 0

01 SR+ AH 1,800 1,800 0
(OPNEESs 150,000& 128 1,800

_34_




